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    CO BL 
Q1 (a) Show that qqpp  ))((~  is a tautology [2] CO1 BT4 

Q1 (b) Find the least n for which the statement is true and then using mathematical 

induction prove that nn 2)1( 2   

[3] CO1 BT1 

      
      
Q2 (a) Find whether qqp  )(  and qqp  )(  is logically equivalent or not. [2] CO1 BT1 

Q2 (b) Prove or disprove. Rx , 23 xx  . [3] CO1 BT5 

      
      
Q3 (a) Solve 011   rrr aaCosa   [2] CO1 BT3 

Q3 (b) Find the solution of the following recurrence relation 2
1 raa rr   [3] CO1 BT1 

      
      
Q4 (a) Solve the recurrence relation r

rrr aaa 22 21   ;    2r  by the method 

of generating function satisfying the boundary conditions 1,2 10  aa  

[2] CO1 BT3 

Q4 (b) Solve the recurrence relation 016 13   rr aa  [3] CO1 BT3 

      
      
Q5 (a) Let A = {1, 2, 3, 4, 5 } and R be the relation defined by a R b if and only if a < 

b. Compute 2R  and 3R  

[2] CO2 BT3 

Q5 (b) Determine whether the relation S on the set A is symmetric, antisymmetric 
and transitive. Set  A = ℝ2\(0,0) . The relation S is defined as 

),(),( 2211 yxSyx   if only if   1221 .. yxyx   

[3] CO2 BT4 
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